

Sumamos mariquitas



$$\begin{array}{c} \text{Ladybug} \end{array} + \begin{array}{c} \text{Ladybug} \end{array} = \boxed{}$$

$$\begin{array}{c} \text{Ladybug} \quad \text{Ladybug} \end{array} + \begin{array}{c} \text{Ladybug} \end{array} = \boxed{}$$

$$\begin{array}{c} \text{Ladybug} \quad \text{Ladybug} \\ \text{Ladybug} \end{array} + \begin{array}{c} \text{Ladybug} \end{array} = \boxed{}$$

$$\begin{array}{c} \text{Ladybug} \quad \text{Ladybug} \end{array} + \begin{array}{c} \text{Ladybug} \quad \text{Ladybug} \end{array} = \boxed{}$$